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fa: Juii: AT
Ox — 4x® — 4x® — 4(2%° + 6x) 3x + 4x° — 3x— 3(3x% — Tx)
4 + X% + 4(7x3 + 2x2) - X 70— 2% + 2(4x + Tx) — 6x
2 2 3 2 2
Sx7+ 6x" +2(4x—9x") — 3x Ox + 6x° —2(7x + 9x) + 3x
4% + 2 — 4y’ — 2(4x2 + 5x3) X -8+ 3(5)63 — 6x3) — 45
4(4x3 + 9x) — -6 - 8? 2(5)63 + 7x) +4x — 8 — 2x
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ia: FUTi: ATLLUY:
Ox — 4x® — 45 — 4(2%° + 6) 3x+ 4x® — 3x— 3(3%% — 7
—8x> — 8¢ — 15x 47 — 9% + 21x
4x3+x2+4(7x3+2x2)—x 7x3—2x2+2(4x+7x)—6x
3200 + 97 —x 70 — 27 + 16x
5% + 6 + 2(4x — 9x°) — 3x? Ox + 6x% — 2(7x + 9x) + 3x
—18%° + 8¢ + 8x 6x% — 20x
4% + 2x — 4 — 2(4* + 5¢%) X =8¢ +3(5¢° — 67) — i
—14x° — 4% + 2x —10x° — 4x
4(4x° + 9x) — x% — 60 — 8x? 2(5x° + Tx) + 4x — 8x — 2x
10x° — 922 + 36x 10x° + 8x
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